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g G| Adc| L Jo ) Al | B k| A | B R A
101 EARY 23 2 FA) 9 | 201 EARY 24 20 FB) 9 | 301 FARY 23 2 F0) 9 401 FARY 24 2 FD) 9
102 BARY A 2F 20 FA) 12 | 202 BARS A+ 2F 00 FC) 12 | 302 BARY L3 2F 20 FE) 12 | 402 BARY A3 2F 20 FG) 12
103 AR >+ 2 0 FB) 12 | 203 BAREY A+ 2F 0 FD) 12 | 303 BARY L3 2F 200G FD) 12 | 403 AR A+ 2 e D 11
104 BARY 7 F2F 2GFA 11 | 204 BARY 7 F2F 206G FO 10 | 304 BARS TS 2F (i FE) 10 | 404 BAREYTF2A (G FC) 10
105 BARY 7 2F 2GFB) 11 | 205 BARY 7 2F 2GFD) 10 | 305 BARY 732 w0 ) 10 | 405 BARY T F2A wGFID 10
106 Bz ARY 933 FA4 e 5 | 206 FH= AR? I3 FF e 2 1306 Bz AR? L3 F e 1 406 Bz AR? L3 FF e 4
307 AR §F ol 3 | 407 AR & F sl 4

= kg

107 Wiz A WY A3 2F 2GR 17 1207 DLESE RN R S XCY D) 15 | 308 BAREP T3 F A AL 6 408 BAR? L3¢ F il 5
108 AR 2F G R) 16 309 BAREP 93 A4 %BE 6 409 BAR? 43¢ F 4 5B 5
109 ARy A+ 2 G F) 16 | 208 BAREY T 2A (GEF) 16 | 310 BAREP 93¢ FA45CE 6 410 BARY 43¢ F4mle 5
110 Wiz A WY A3 2 w(GRF) 8 | 209 Wiz A WY 932 e(EE) 8 | 311 BART § 3¢ F 45D 6 | 411 AR A3 d F 4 mDe 5
111 AR 2F n(GRE) 8 312 BAREP T3 F A4 %EE 5 412 BARY &3¢ F 4 5B 5
112 ARy A+ 2 ) 8 | 210 BAREY T 2A 0(RF) 8 | 313 BAREP 93¢ FA4mFE 5 413 BARY &3¢ FF 5Ae 6
314 BARE T3¢ FFHAE 6 414 BARY &3¢ FF 5B 6
315 BARY §34F 3 %Be 6 415 BAR? L3¢ FF5Ce 6
316 BARY §34F 3 %Ce 5 416 BAR? L3¢ FF 5D 6
317 BARE T3¢ FFHDE 5 417 BARY &3¢ FF 5L 6
418 BARY *34¢ 4% xFe 6
419 BAREY 3¢ 4% 56 5
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